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7 HHIES pE | RLIH e T B
1 | 2203195100000100001 FE K2 =R/BRT|  wE 734 | FEE
2 | 2203195100000100002 | &RiFH 2 =%/ERI| 75.5 816 | &%

3 | 2203195100000100003 B IN K2 %/ T 77.5 747 | B8

4 | 2203195100000100004 | SB{EE 2 %/ T| 59.5 69.4 | REH
5 | 2203195100000100005 | &§g 2 M%&/HH{T  76.5 721 | &8

6 | 2203195100000100006 KRB 2 PO/ T| 735 63.9 | &1

7 | 2203195100000100007 | XESES 2 m%/pRT| 71 67.9 | &%

8 | 2203195100000100008 X BER RKZIm O&k/HFHKT| 68 67.4 | A8

9 | 2203195100000100009 | XliFgHk 2 %&/h% T 78.5 64.1 | &%
10 | 2203195100000100010 & RED g/ 4KT 81 66 atg
11 | 2203195100000100011 KB ZZ %/ 55 62.5 | A&
12 | 2203195100000100012 | B/EELE K2 %/ T 79.5 717 | &8
13 | 2203195100000100013 =1 K2 O /HRT |  59.5 64.6 N=LiE
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2203195100000100014

PaZk/hR T
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PaZk/shek T
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65.6
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PaZk/shek T
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ERE
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PaZk/ ek T

53

66.4
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2203195100000100018

PaZk/shek T

71.5

68.3
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2203195100000100019

PaZk/shek T

65.5

66.9
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2203195100000100020

PaZk/shek T

74

66.5
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2203195100000100021

PaZk/shek T

58.5

68.6
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PaZk/shek T

67

67.3
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2203195100000100023

PaZk/shek T

71

66.9

24

2203195100000100024

PaZk/shek T

68.5

67.1
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PaZk/shek T

75.5

66.2

26

2203195100000100026

PaZk/shek T

81.5

73.1

27

2203195100000100027

PaZk/shek T

80

71.4

28

2203195100000100028

A%/ ek T

72

64.6

29

2203195100000100029

PaZk/shek T

64.5

64.8
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2203195100000100030

PaZk/shek T

72.5

69.1

31

2203195100000100031

PaZk/shek T

66

69.1

32

2203195100000100032

PaZk/shek T

66

68.5

33

2203195100000100033

PaZk/shek T

72

71.4

34

2203195100000100034

PaZk/shek T

81.5

72.5

34

2203195100000100035

PaZk/shek T

62

64.9

36

2203195100000100036

PaZk/shek T

66

70.3
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2203195100000100037

PaZk/ ek T

64

64.6

38

2203195100000100038

AR/NRT

55

60.6




39 2203195100000100039 | Z=Ei#EHT RKZIm hR/ANEKRT 54 80 &
40 2203195100000100040 | mEEHE RKZIm RER/HRT 485 75 &
41 2203195100000100041 =5 RKZIm RR/HRT 63 723 | &1
42 2203195100000100042 | =Z=E§EE =2 M/ T| 61.5 70 atg
43 2203195100000100043 54 =2l Pugk/sek T 68 65.9 | &1&
44 2203195100000100044 R =2 Ok /HRT| 68.5 65.9 | &1&
45 2203195100000100045 | =Z=3@% =2 RR/NKRI| 635 67.6 | &1&
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